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Equation (2.82), page 27.
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Equation (2.88), page 28.
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Line 3, page 54. Ey = %fw)

Equation (3.116), page 58.
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Equation (4.32), page 74.

S dln(Q)

- = kg

oV NE aV NE
_r
=7

Equation (4.33), page 74.
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Line 2, page 82 p = 1/ p? + p3 + p3 = V2mE

Equation (4.88), page 88

/q/ {div (pX) + %} 4V =0

Equation (4.89), page 88
. d
div (pX) + 52 =0

Equation (4.90), page 88

Equation (7.5), page 125.
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q(1,V,T) = ﬁ/dgidgi exp (—Bhi)

Equation (7.37), page 132.
1
hvibration = Zp% + U(l’)

Equation (7.38), page 132.
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Equation (7.43), page 133.
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Equation B.9 (p. 311) should read:

dH =TdS+VdP

Equation B.10 (p. 311) should read:

dA = —SdT — PdV

Equation B.11 (p. 311) should read:

dG = —SdT +VdP

Equation B.13 (p. 311) should read:

dH =TdS+VdP+X u;dN;

Equation B.14 (p. 311) should read:

dA = —SdT — PdV +£i_ ,u;dN;

Equation B.15 (p. 311) should read:

dG = —SdT +VdP+ £} ujdN;



